Name:

Date:

Teacher:

Class:

Addition and Subtraction 510

Where does a bird go when it loses its tail? The retail store.

Calculate.
L. 6,571 % 1,476 % 6,992 4 2,954 > 3,783 & 2,918
— 4877 - 500 - 5,467 1,926 2,824 1,891
£ 8,338 & 9,432 ° 5,166 1°° 8,819 - 8,086 > 8,663
+ 1,205 + 9,425 + 6,458 4,390 4,187 2,360
13. 7244 1% 4745 15> 6,860 1 7,894 17 6,933 18 9299
- 2,399 - 3,337 - 3,617 4,796 6,318 2,868
19 5,802 20 7,377 % 4,108 ¥ 8,302 2% 5,262 %4 9,684
+ 6,965 + 8,956 + 2,829 8,550 6,153 1,650
25 9263 26 4914 2"~ 4,722 %8 4168 ¥ 3,916 30 6,571
- 5506 -4,733 - 1,217 848 3,438 4,530
sl. 520832 81823 9528 3% 66,0313 76063 4337
+ 3,515 + 3,883 + 9,121 3,718 5,709 6,559
7. 8,530 3% 5491 3 3,303 % 2,666
- 5303 -2906 - 2,397 1,171
© Facilitators Ferriswheel WS#:A&S510 Score:



Answer Key

Date:

Teacher:

Class:

Addition and Subtraction 510

Calculate.

Where does a bird go when it loses its tail? The retail store.

- 65712 14763 6,9924 2954°> 3,783°% 20918
- 4877 - 500 -5467 -1926 - 2824 - 1,891
1,694 976 1,525 1,028 959 1,027
83388 9432°9% 5166 1% 8,819 1 8,086 1> 8,663
+ 1,205 + 9425 + 6,458 + 4390 + 4,187 + 2,360
9,543 18,857 11,624 13,209 12,273 11,023
1. 7,244 14 4745 1> 6,860 & 7,894 17~ 6,933 18 9,299
- 2399 -3337 -3617/7 -—-4796 - 6,318 — 2,868
4,845 1,408 3,243 3,098 615 6,431
195,802 20 7,377 - 4,108 2> 8,302 ¥ 5,262 ?* 9,684
+ 6,965 + 8956 + 2,829 + 8550 + 6,153 + 1,650
12,767 16,333 6,937 16,852 11,415 11,334
259,263 %6 4,914 27 4,722 %8 4,168 *> 3,916 3 6,571
- 5506 -4,733 -1217 - 848 - 3,438 — 4,530
3,757 181 3,505 3,320 478 2,041
3. 5,208 32 8,182 3 9,528 34 6,031 %> 7,606 ¢ 4,337
+ 3,515 + 3,883 + 9,121 + 3,718 + 5,709 + 6,559
8,813 12,065 18,649 9,749 13,315 10,896

3. 8,530 %8 5,491 3% 3,303 4 2,666

- 5303 -2906 -239/ -1]171

3,227 2,585 906 1,495
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Score:



